
ПDе9EкуD4=т 64DтоEтV Dо5Vт 7 =4д4==я теE=Vч=8E у<о6 пD8єд=4==я до 747оDо7подVль=оW E8Eте<8 т4 
по7од6е==я пDоект=оW доку<е=т4FVW 7 1 5еDе7=я 2024 Dоку 

№ 
п/п 

В8д Dо5Vт 
ЦV=4 5е7 
ПДВ, 7D=. 

 Н4д4==я теE=Vч=8E у<о6  

1. �8д4G4 теE=VG=8E у<о6 =4 7478DVк4FVN пVдпD8T<Eт64, котель=оW, К�О 3555,38 

2. �8д4G4 теE=VG=8E у<о6 =4 7478DVк4FVN =4Eеле=о7о пу=кту 7 68W7до< =4 <VEFе 5601,45 

3. �8д4G4 теE=VG=8E у<о6 =4 7478DVк4FVN =4Eеле=о7о пу=кту 5е7 68W7ду =4 <VEFе 3325,22 

4. �8д4G4 теE=VG=8E у<о6 =4 7478DVк4FVN 68тло6о7о 5уд8=ку (к64Dт8D8) 1239,21 

5. 
�8д4G4 теE=VG=8E у<о6 =4 Dеко=EтDукFVN 6у7л4 ко<еDFV9=о7о 6у7л4 о5лVку 747у 

(=4Eеле==O т4 К�О) 871,49 

6. 
�8д4G4 теE=VG=8E у<о6 =4 Dеко=EтDукFVN 6у7лV6 о5лVку пD8Dод=о7о 747у 

пDо<8Eло68E пVдпD8T<Eт6 
759,52 

 По7од6е==я пDоєкт=оW доку<е=т4FVW  

7. 
'77од6е==O пDоектV6 тD4E 747опоEт4G4==O до =4Eеле=8E пу=ктV6 т4 6ел8к8E 

пDо<8Eло68E пVдпD8T<Eт6 пDотO6=VEтN до 1 к<. 4888,54 

8. Н4 ко6=89 =4Eтуп=89 к<. тD4E8 432,83 

9. '77од6е==O пDоектV6 747опоEт4G4==O 68тло6о7о 5уд8=ку (к64Dт8D8) 235,0 

10. '77од6е==O пDоектV6 747опоEт4G4==O 5474ток64Dт8D=8E 5уд8=кV6 1577,26 

11. '77од6е==O пDоектV6 747опоEт4G4==O котель=оW, К�О 1166,01 

12. 
'77од6е==O пDоект=оW доку<е=т4FVW =4 пеDHV 100п.<. тD4E8 747опDо6оду 6 

=4Eеле=о<у пу=ктV 474,53 

13. &е 6 =4 ко6=V =4Eтуп=V 100 п.<. 207,89 



14. '77од6е==O пDокл4д4==O ко<у=Vк4FV9 =4 пеDHV 100п.<. 696,43 

15. &е 6 =4 ко6=V =4Eтуп=V 100 п.<. 379,62 

16. '77од6е==O 7еоде78G=оW 79о<к8 до 100E<. 591,13 

17. &е 6 =4 ко6=V =4Eтуп=V 100E<. 411,26 

18. Н4д4==O копV9 68ко=46GоW доку<е=т4FVW 7 4DEV6у 'Е�� <.ОдеE4 424,35 

19. 
'77од6е==O <етDоло7VG=оW G4Eт8=8 пDоекту К�О т4 пVдпD8T<Eт6 7 68тD4т8<8 747у до 

16 =<3/7од 
283,26 

20. &е 6 по=4д 16 =<3/7од 2036,89 

21. '77од6е==O пDоектV6 747опоEт4G4==O 6 G4Eт8=V � �, Ш � 579,23 

22. '77од6е==O пDоекту 6 G4Eт8=V електDоE8<74E8Eту 195,6 

23. 
'77од6е==O пDоекту по ко=тDолN ко=Fе=тD4FV9 747V6 6 5удV6лOE т4 EпоDуд4E 

7478DVко64=8E =4Eеле=8E пу=ктV6 
108,98 

24 �8д4G4 68EVд=8E д4=8E (доку<е=тV6) длO 7дV9E=е==O 7VдD46лVG=о7о Dо7D4Eу=ку 718,42 

 

 


